Homework Maths Group 2 - Can I use column subtraction for HTU
Place the numbers in a column remember Hundreds, Tens, Units.
If the number on the bottom is bigger than the number on top then you must EXCHANGE!
	Question
	Column subtraction
	Answer
	Check using the inverse

	275 – 129 = 
	        H   T   U          
        2   6 7    15

   -   1     2     9
        1     4      6


	146 
	   146

+ 129
                      15 (6+9)

                      60 (40+20)

                    200  (100+100)

                    275

	353 – 161 = 
	
	
	

	262 – 138 = 
	
	
	

	518 – 229 = 
	
	
	

	802 – 639 = 
	
	
	

	900 – 832 = 
	
	
	


